EOK-ADHK (XEE) ME & EH

7) -2 «A)3 (v o0 (= 4 =1

(7) 6—(246)=6—8=—2
(1) 6—(5—2)=6—3=3
(=) 6—(3—1)=6—-2=4
(V) 6—(2+4)=6—6=0
() 6—=(5+0)=6—5=1
o| @8 (1) —-16 (2 5ME

1) (F1)X34+(=2)X5+(+3)X4+(—4)X2+(+5)X1+(—6)%3
=3—10412—-845-18=-16
£-T, A DAEICHIET DEIT

EIH-E35E, ADMER

—16

6 O H»

(2)

(+1)X34+(—2)X5+(+3)X4+(—4) X2+ (+5) X1+ (—6)X

=3-10+12—-84+5—-6X =2—-6X

Lo T

2—6X%

=28

2—-30=-28TH DD

LB -T, 6 DEHPHZEEIX

3] @D 85 (2 TH

1)

(1)

2X64+(—1)x4=124+(—4)=8

=93
5 [=]

B 8

2) B EIH7ZLT5E, BRIT
2x3+(-1)x (/)
ERIND, T —1RERDIMD
2X3+(—1)x =-1
- 6— =-1
LiE®n =7

B 7HE




